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As it is a sign of a fetus — 77Am22 791 1290 [T2] TwRa T ITD’D:
by a woman; [so] it is a sign of a fetus by an animal

OVERVIEW

The mwn teaches us that a INXPH ANYW ROV is 72°9X2 770K; for just as a 7w is a
TWRA 791 10, so too is it a mnnaa 791 0. Our Moo will explain why nwR is
mentioned here.

nooIN asks:
= 119123 NN 19990 KXY 1PNINN HYNI 19N NHIN INNNI 9NN ON)

And if you will say; why is the 772 dependent on the 7wR; for our mawn (of

21 X°7W) is only discussing a 7713, and not an mwx? If the mwn would have (first) taught
us that by an 7w, a R°°W is a 721 12°0, and then mentioned a similar ruling by a 773, it would be
understood that the 7awn concludes that 7722 791 172°0 70 AwWR2 771 11°00'. However since our
mwn is not discussing an 7WRX at all, why mention that 121 7w&2 791 12°037?!

n90IN answers:
= 11913321 99 1D VIV NYNIAT DIVN 9D U

And one can say; that the reason he is 720 the 7wX2 702 is because it is more
obvious that a X2 is a 771 12°0 by an 7wN, than by a m%m2.

Mmoo explains why by an 7WR it more VW9 than by a 7»72:
= 111732 XY NYUNA 199 11950 NINY 929V 1917

For an embryo which is a 791 327 by an 7wX; but it is not a 791 3290 by a 772 -
:NOTYY PO NYNR XOIY NN 191 1290 2,00 41 mman) NPTNA )INTD

As was taught in a maw» in npY»r P19 that (only) a X%Hw is a 791 12°0 by a 723;
however by a woman (both) a 2°s2 and a X*>® are a 7 1°0.” We see from that
71wn that by a woman there are more possibilities of a 721 1»°0, than by a nma.*

SUMMARY

! This X0 differs from (3" A"72) *"w1 o3 (who text reads: N2 T2 101 AWRA 191 12°0) and is the (probable)
cause for N1HOIN question.

? See nooIn there 70321 71"7, where he seems to answer the question (slightly) differently.

? The issue there is if a childless 7nma or woman expelled a "2w or a X*>w, is that considered the an1 w9, and any
future 721 is not a 1192, By a nnn2 only a X°5w is sufficient to be 7w her from 77193; however by a woman even a
79w also exempts the following child from being a 732.

* This is what the X1 means 121 79 1m°03; that just as by a woman where even the 7w is a 721 12°0 (not like a nnn2),
and certainly a > is a 791 12°0, so too by a 1773, a ROV is (also) a 771 11°0.
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An nwX is more apt to have a 721 12°0 in a discharge (by X°%w 7°9w), than a 72
(X7 only).

THINKING IT OVER
1. Why is a 2w more of a 791 12°0 (by a 7n772) than a 1°ow?

2. Is mooIN question also according to *"w1 N2

5 See footnote # 1.
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